
DRAWN
CHECKED
ENG APPR
MGR APPR

All dimensions are in mm. Unspecified
tolerances are according to ISO 2768-m.
Surface roughness Ra 3.2 um if not given.

NAME
PerS

DATE
08/10/2008 Nohassel

The cycle motor solution
TITLE

SIZE
A3

DWG NO REV

FILE NAME: Nohassel propulsion unit-01.dft

WEIGHT: SHEET 1 OF 62213,909 g

PRELIMINARY - FOR INFORMATION ONLYA A

O 139

30

Item Document Number Rev Title Material Mass Qty

1 105 00 Dual stator fixture Aluminium 110,572 g 1

2 101 00 LRK motor, insulator 110-86-48 Epoxy, cast rigid 2,038 g 2

3 102 00 LRK motor, stator 110-86-48 Magnet steel 122,801 g 1

4 106 00 LRK motor, coils Copper 202,297 g 1

5 012 Disc motor, stator holder FR-4 substrate 5,994 g 1

6 013 Disc motor, stator holder FR-4 substrate 2,431 g 1

7 011 Disc motor stator coil Copper 6,446 g 9

12 Screw, M4x30 A4 22,917 g 6

13 206 00 Disc motor, rotor Soft iron 40,293 g 1

14 Ø10x3 Disc magnet, round NdFeB 42,262 g 24

15 203 Disc motor, magnet holder FR-4 substrate 11,948 g 2

16 202 00 Disc motor, rotor Soft iron 38,175 g 1

17 201 00 Disc motor, spindle Aluminium 17,832 g 1

18 608-2Z Ball bear

t,8



? '% J >@$ *" E" DR A WNCH E CKE D E N G  A P PRM G R  A PP R A ll dim ens ions  a r e in  m m .  Unspeci fi edt oler a nces  a r e  a ccor ding  t o I SO  276 8 - m . Sur fa ce  r oughne ss R a  3 .2  um  if n ot  g iv en.

N A M E P er S DA TE08 / 1 0/ 20 08Noha s s elTh e c y c le motor soluti onT I T L E SI ZE A 3 N aPRs@ o AQFI L E  N A M E :  N o ha ssel  p r op ulsion un it - 01 .dftWE I G H T:SH E E T 2  O F  62 2 13, 90 9 g

P R E LI M I NA R Y  - FO R  INFO RM A T I O N O NLY

S c r ew , M4 x3 0H ex ag on  Nu ts, di n 43 9b , M1 2

W asher

P r opu lsi on  un i t b ase/h ea tsi n kC ooli n g  f an

D i sc  m otor  sta tor  c oi l

S c r ew , Tor x , c ou n ter sunk

P r opu lsi on  un i t w all Nu t, D I N 93 4 , M4D i sc  m ag n et, r oun dD i sc  m otor , m ag n et h old er

D i sc  m otor , spi n dle

D i sc  m otor , stat or  h old erD i sc  m otor , stat or  h old erPlan et g ear

Ri n g g ear  78 t

Sun  g ear  3 0 t

L RK  m otor , i n su lator  11 0 - 8 6- 4 8

Sc r ew , M4 x 8 , Tor x

Ball b ear i n g

B all b ear i n gS pr in g w ash erSpr in g w ash er Loc k  r i ng , ex ter n alLRK m otor , st at or  1 1 0- 8 6- 48

D i sc  m otor , r otor

LRK  m otor , m ag n ets ( 56 pol e)Pr opulsi on  un i t li d

Wash er

Plan et ax le

Plan et c ar r i er

LRK m otor , r otor

LRK  m otor , m ag n et b ac k in gD u al stator  f i x tu r e Sun ax le D i sc  m otor , r otor

Loc k  r i ng , i n ter n al

LRK  m otor , c oi ls



DRAWN
CHECKED
ENG APPR
MGR APPR

All dimensions are in mm. Unspecified
tolerances are according to ISO 2768-m.
Surface roughness Ra 3.2 um if not given.

NAME
PerS

DATE
08/10/2008 Nohassel

The cycle motor solution
TITLE

SIZE
A3

DWG NO REV

FILE NAME: Nohassel propulsion unit-01.dft

WEIGHT: SHEET 3 OF 62213,909 g

PRELIMINARY - FOR INFORMATION ONLY

1:1
16

14

3

4 1

7

15

8

11

10

5

12

6

2

B

B

SECTION B-B
2:1

16

14

3

4

1

7

15

8

11

10

5

12

6

2

9

Item Document Number Rev Title Material Mass Qty

1 201 00 Disc motor, spindle Aluminium 17,832 g 1

2 206 00 Disc motor, rotor Soft iron 40,293 g 1

3 Ø10x3 Disc magnet, round NdFeB 42,262 g 24

4 203 Disc motor, magnet holder FR-4 substrate 11,948 g 2

5 202 00 Disc motor, rotor Soft iron 38,175 g 1

6 205 00 Sun axle Steel 24,064 g 1

7 207 Sun gear 30t Steel 73,489 g 1

8 608-2Z Ball bearing 35,829 g 3

9 209 Woodruff key Steel 1,238 g 2

10 208 Lock ring, external Steel 0,045 g 1

11 SSB 0087 1.57 Spring washer Steel 0,704 g 2

12 210 Washer Aluminium 0,971 g 1

13* M3x12 00 Screw, countersunk Stainless Steel, 304 0,785 g 1

14 Cooling fan ABS Plastic, medium impact 3,363 g 1

15  ISO 7045 M4x8 Screw, M4x8, Torx A4 1,663 g 1

16 DIN 125 M4 Washer A4 0,306 g 1



DRAWN
CHECKED
ENG APPR
MGR APPR

All dimensions are in mm. Unspecified
tolerances are according to ISO 2768-m.
Surface roughness Ra 3.2 um if not given.

NAME
PerS

DATE
08/10/2008 Nohassel

The cycle motor solution
TITLE

SIZE
A3

DWG NO REV

FILE NAME: Nohassel propulsion unit-01.dft

WEIGHT: SHEET 4 OF 62213,909 g

PRELIMINARY - FOR INFORMATION ONLY

1:1

C

C



DRAWN
CHECKED
ENG APPR
MGR APPR

All dimensions are in mm. Unspecified
tolerances are according to ISO 2768-m.
Surface roughness Ra 3.2 um if not given.

NAME
PerS

DATE
08/10/2008 Nohassel

The cycle motor solution
TITLE

SIZE
A3

DWG NO REV

FILE NAME: Nohassel propulsion unit-01.dft

WEIGHT: SHEET 5 OF 62213,909 g

PRELIMINARY - FOR INFORMATION ONLY

D DSECTION D-D 103458



DRAWN
CHECKED
ENG APPR
MGR APPR

All dimensions are in mm. Unspecified
tolerances are according to ISO 2768-m.
Surface roughness Ra 3.2 um if not given.

NAME
PerS

DATE
08/10/2008 Nohassel

The cycle motor solution
TITLE

SIZE
A3

DWG NO REV

FILE NAME: Nohassel propulsion unit-01.dft

WEIGHT: SHEET 6 OF 62213,909 g

PRELIMINARY - FOR INFORMATION ONLY1:21:2 SECTION E-E2:1614 37 52I temD ocument Numb erRevTitleMater ialMassQty 1 40 1 Pr opulsion unit b ase/heatsink Aluminium 161,499 g1240 3Pr opulsion unit lidAluminium121,152 g1 3 40 2 Pr opulsion unit wall Aluminium 226,397 g1 4 M4x8 Scr ew, Tor x, counter sunk Stainless Steel, 316 21,741 g 245 Aluminium 16,340  g1 6 D I N 125 M4 Washer A4 1,8 38  g 67 D I N 934 0 0 Nut, D I N 934, M4 A4-8 0 5,233 g 6


